TOTAL

Lump Sum / I.B.I: (\$



TONG LUCK AUTO PTE LTD

160 SIN MING DRIVE #07-01/06 SIN MING AUTOCITY, SINGAPORE 575722

Tel: 6250 0088 Fax: 6250 5545 Email: operation@tlauto.com.sg GST No: 201700521W UEN No: 201700521W

PAGE: 1

M/S : MERCEDES-BENZ FLEET MANAGEMENT SINGAPORE P1

1 GATEWAY DRIVE #15-08 **WESTGATE TOWER**

SINGAPORE 608531

Not Norholds Resurry B& pains 12days FAX:

NO

DATE

: QUOT202408-000001(00) : 02/08/2024

POLICY NO : SP2003907937

VEH REG NO : SNC5605R MAKE/MODEL : MERCEDES BENZ A180

COMPACT SALOON

PROGRESSIVE

YOUR REF NO : SNB648E

ATTN: ACCOUNTS DEPT

ESTIMATE

CHASSIS NO : W1K1770842J324756

CLAIM TYPE

: THIRD PARTY

ENGINE NO : 28291480677039

TP INS. CO.

TEL:

: AUTO & GENERAL INSURANCE (SINGAPORE) F REG. DATE

ACCIDENT DATE : 24/07/2024 TP VEH REG NO : SNB648E

Estimate Repair Cost to Vehicle No: SNC5605R

Description		Quantity	Unit Price	Amount
			<u>\$\$</u>	<u>\$\$</u>
NET PRICE		2	Pol11717 220.00	440.00
1 Roof top moulding - RH / LH		1	Bu 1,875.00	1,875.00
2 Bonnet		2	98.00	196.00 7
3 Bonnet hinges - RH / LH		2	270.00	540.00 7
4 Bonnet actuator - RH / LH 5 Bonnet seal		1	34.00	na 34.00 —
5 Bonnet seal 6 Bonnet catch		1	62.00	62.00 7
7 Bonnet lock		1	215.00	215.00 7
8 Bonnet lock switch		1	158.00	158.00
9 Bonnet cable		1		Sin 82.00 X
10 Air intake hose		1		CM 472.00
11 Support panel		1		CM 865.00 —
12 Support panel mounting pin - RH / LH			36.00	72.00 7
13 Support panel air duct			1 60.00	60.00 7 CM 1,009.00
14 Front grille			1 1,009.00	cm 322.00
15 Front grille beam			1 322.00 2 CUVOV 78.00	
16 Front grille beam moulding - RH / LH			2	
17 Front grille centre logo			1 190.00	
19 Front grille logo base			1 200.00	
19 Headlamp assy - RH / LH	rls cm	ols?	2 3,686.00	1
20 Headlamp control unit - LH			598.00 2 By/ Can 780.0	
21 Front fender - RH / LH				0 1,500.50
CHAIN COMMITTEE TO A STATE OF THE STATE OF T			2 235.0	
- " DU////			2 24.0	
			1 52.	
24 Front fender bracket - RH			1 1,435.	00 4 1,435.00
25 Front bumper			1 102	.00 Mer 102.00
26 Front bumper emblem			1 220	.00 21 220.00
Pront bumper top garnish - centre			•	260.00
8 Front bumper top garnish - RH / LH			_	3.00 518.00 7
9 Front bumper reinforcement			,	400.00
Front bumper reinforcement bracket -	LH			1
Lumper lower cross frame				0.50
1 Front bumper lower cross manne			2 2	24.00 DIJ 48.00 D
2 Front bumper side retainer - RH / LH				



TONG LUCK AUTO PTE LTD

160 SIN MING DRIVE #07-01/06 SIN MING AUTOCITY, SINGAPORE 575722

Tel: 6250 0088 Fax: 6250 5545 Email: operation@tlauto.com.sg GST No: 201700521W UEN No: 201700521W

PAGE: 2

M/S : MERCEDES-BENZ FLEET MANAGEMENT SINGAPORE P1

FAX:

1 GATEWAY DRIVE #15-08 WESTGATE TOWER

SINGAPORE 608531

ATTN: ACCOUNTS DEPT

TEL:

YOUR REF NO

ESTIMATE

NO : QUOT202408-000001(00)

DATE : 02/08/2024

POLICY NO : SP2003907937 VEH REG NO : SNC5605R

MAKE/MODEL : MERCEDES BENZ A180

COMPACT SALOON **PROGRESSIVE**

CHASSIS NO : W1K1770842J324756 : SNB648E

CLAIM TYPE : THIRD PARTY **ENGINE NO** : 28291480677039 TP INS. CO. : AUTO & GENERAL INSURANCE (SINGAPORE) F REG. DATE : 2021

ACCIDENT DATE : 24/07/2024 TP VEH REG NO : SNB648E

Estimate Repair Cost to Vehicle No: SNC5605R

Description	Quantity	Unit Price	Amount
	to access or some and a later of a	<u>\$\$</u>	<u>\$\$</u>
33 Front bumper sponge	1	210.00	210.00
34 Front bumper pressure switch sensor	1	252.00	252.00 7
35 Front bumper centre grille	1		017 184.00 <u></u>
36 Front bumper fog lamp cover - RH / LH	2	•	Drr 108.00
37 Front bumper sensor	4	216.00	864.00
38 Front bumper sensor seals	6	12.00	72.00
39 Front bumper radar sensor	1	1,436.00	1,436.00 7
40 Front bumper radar sensor bracket	1	58.00	58.00 7
41 Front bumper number plate garnish	1	136.00	Dd 136.00
42 Front bumper under cover	1	368.00	368.00 7
43 Front bumper clips	15	9.00	Ne 135.00
44 Front bumper top bracket	1	76.00	76.00
45 Front bumper top bracket air duct	1	155.00	155.00 7
46 Front bumper lower bracket	1	76.00	76.00 7
47 Front bumper lower bracket air duct	1	162.00	162.00 7
48 Air-con condenser	1	1,335.00	1,335.00 7
49 Air-con condenser support bracket - RH / LH	2	322.00	644.00
50 Radiator assy	1	1,564.00	1,564.00 7
i1 Radiator auto fan assy	1	1,025.00	1,025.00 7
2 Radiator top covering	1	76.00	CM 76.00 —
3 Tailgate	1	A 2,658.00	2,658.00
4 Tailgate weatherstrip	1	340.00	5m 340.00 X
5 Tailgate hinges - RH / LH	2	177.00	
7 Tailgate centre garnish	1	325.00	Pis 325.00 -
7 Tailgate centre logo	1	67.00	M .
Tailgate centre logo clip	-	10.00	
	3		
Tailgate "A180" emblem	1	165.00	
Tailgate reflector - RH / LH	2	488.00	
Rear end panel	1	1,340.0	
Taillamp assy - RH / LH	NIS7 2	<i>ols</i> 675.0	0 CM 1,350.00 L
Taillamp lower bracket - RH / LH	2	90.0	0 180.00
Rear bumper	1	1,554.0	•
Rear bumper reinforcement	1		1,004.00



TONG LUCK AUTO PTE LTD

160 SIN MING DRIVE #07-01/06 SIN MING AUTOCITY, SINGAPORE 575722

Tel: 6250 0088 Fax: 6250 5545 Email: operation@tlauto.com.sg GST No: 201700521W UEN No: 201700521W

PAGE: 3

: MERCEDES-BENZ FLEET MANAGEMENT SINGAPORE P1

FAX:

1 GATEWAY DRIVE #15-08 WESTGATE TOWER SINGAPORE 608531

TEL:

ATTN: ACCOUNTS DEPT

TP VEH REG NO : SNB648E

ESTIMATE

NO DATE

: QUOT202408-000001(00) : 02/08/2024

POLICY NO

: SP2003907937

VEH REG NO : SNC5605R

MAKE/MODEL : MERCEDES BENZ A180 COMPACT SALOON

PROGRESSIVE

YOUR REF NO

: SNB648E

CHASSIS NO : W1K1770842J324756

: 28291480677039

CLAIM TYPE TP INS. CO.

: THIRD PARTY

ENGINE NO

: 2021

: AUTO & GENERAL INSURANCE (SINGAPORE) F REG. DATE **ACCIDENT DATE : 24/07/2024**

Estimate Repair Cost to Vehicle No: SNC5605R

Description	Qu	antity	Unit Price	Amount	
			<u>\$\$</u>	<u>\$\$</u>	
66 Rear bumper side retainer - RH / LH		2	175.00	350.00	7
67 Rear bumper inner frame		1	190.00	190.00	7
68 Rear bumper lower garnish		1	358.00	ne 358.00	The state of the s
69 Rear bumper lower chrome - centre		1	236.00	236.00	
70 Rear bumper lower chrome - RH / LH		2	231.00	ام 462.00	
71 Rear bumper reflector - RH / LH		2	55.00	110.00) X _
72 Rear bumper tow cover		1	28.00	nu 28.00	
73 Rear bumper sensor		42	shan 216.00	864.00	u
74 Rear bumper sensor seals	LKK Auto Consultants hence notify	6	12.00	72.00	
75 Rear bumper clips	the Repairer of the following:	15	9.00	Ma 135.00	0
76 Rear exhaust end chrome	To resurvey before/after spray painting	1	69.00	Ju 69.0	0 /
	 To display damaged part(s) during resurve Parts prices are subject to confirmation Third party survey is on a "Without Prejud 		Less 10%	42,068.0 4,260.8	0
SPECIAL NET	 No illega! modification(s) is allowed Supplementary item(s) must be resurveyed 			37,807.2	U
77 Front number plate	is subject to final approval from Insurance	Company	40.00	By 40.0	0 _
8 Rear windscreen sealant		1	Ne 60.00	401N 60.0	
	Acknowledged by Repairer	·	00.00		_
LABOUR	Signature: Date:			100.0	
9 To remove & refit air-con condenser, ra			150.00	150.0	1001
To remove & refit front and rear bumpe	=	1	200.00		00 1201
To check & rectify wiring system	7 5571557	4	160.00		
2 To remove & refit rear windscreen glas	•	1			•
		1	150.00		.00 120
To panel beat & straighten front fender chassis frame, rear floorboard panel, to panel, including replacement of parts a to refit & adjust the same	cut and weld rear end	1	2,500.00	2,500	.00 1202
To putty & spray paint on affected areas					1400
		1	2,500.0		
To apply rust-proofing on replace and re		1	250.0	0 25	0.00 7
To reset & reprogram headlamp fault co	ode	1	350.0	0 35	0.00 20
					00.00

© SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

1. Please report <u>correctly</u> the details of the accident to speed up the claims process.
2. This Form must be <u>completed by the Policyholder and/or the Actual Driver</u>
3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

The issue and acceptance of this Form by insurance companies is not an admission of policy liability of the part of the insurance companies.
 Any false reporting may be referred to the Police for Investigation.
 This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.
 By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of First Submission 24/07/2024 14:31 (SGT) Reported by **Actual Driver Date of Accident** 24/07/2024 09:49 (SGT) **Exact Location of Accident** 274A Toh Guan Rd, Singapore 600276 Additional Location Information MULTI-STORY CARPARK DECK 1B Country/State of Loss Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number SNC5605R INSURED/POLICYHOLDER Is company? Yes Name Of Registered Owner MERCEDES-BENZ FLEET MANAGEMENT SINGAPORE PTE LTD Company Reg No 1XXXXX778Z **Email Address** too_tong.tan@mercedes-benz.com Mobile Phone No (Phone) +65-96268394 Alternative Phone No (Office) +65-82821711 **VEHICLE PARTICULARS**

Manufacturer Mercedes Model A180 COMPACT SALOON PROGRESSIVE Variant Exact purpose for which vehicle was being used at time of Private use Are you claiming under your own insurance policy for repair to your vehicle? No - Claiming third party Vehicle Category Private car **Transmission** Auto CC 1332

INSURANCE COMPANY

Name of Insurance Company Allianz Insurance Singapore Pte. Ltd. Policy Number / Cover Note Number SP2003907937

DRIVER

Name of Driver NRIC No Date Of Birth

SIM HSIEN YON, IAN SXXXX435D 08/10/1990

SKETCH PLAN

IMPORTANT NOTICE

- 1 Please correctly report the details of the accident to speed up the claims process
- 2 This Form must be completed by the Policyholder and/or the Authorized Driver
- 3 Information provided must be as truthful and accurate as possible. Any willful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance
- 5 Any false reporting may be referred to the Police for investigation
- 6 The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties
- 7. By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the center and to copies of the report being made available aforesaid.

8. Consent under the Personal Data Protection Act (PDPA)

Lunderstand, acknowledge, agree and consent that

- (a) My insurer , my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims
- (ii) investigating the accident and/or my claims
- (ii) carrying out and/or dealing with my instructions or responding to any enquiries by me
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims (Collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the Insurers' lawyers/law firms, may/are permitted to collect, use disclose and/or process my Personal Information for one or more of the above Purposes, and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third-party service providers or agents(including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes

Policyholder's Signature / Date & Time

Driver's Signature (If driver is not the policyholder) / Date & Time

24/07/2024 1130HRS

Witnessed by Reporting Centre Personnel

Sketch Plan

